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PART – I / ^mJ - 1 
 

Question no. 1 : Which among of the following ancient 

sites are representing the Harappan culture? 

A) Rakhigadhi B) Nevasa C) Dholavira  

D) Lothal E) Mathura F) Inamgaon 

 1) only A, C, D              2) only B, E, F 

 3) only B                  4) A, B, C, D, E, F are correct 

àíZ H«$. 1 : Imbrbn¡H$s H$moUVr àmMrZ ñWio hS>ßnm g§ñH¥$Vrer 
g§~§{YV AmhoV? 
A) amIrJT>r B) Zodmgm C) Ymobmdram D) bmoWi 
E) ‘Wwam F) BZm‘Jmd 
 1) ’$³V A, C, D                  2) ’$³V B, E, F 

 3) ’$³V B                      4) A, B, C, D, E, F gd© ~amo~a 

Question no. 2 : Which of the following statements are 

true? 

P) A thermostate is a device used for measuring 

temperature. 

Q) If water is cooled from 10C to 0C at 1 atmosphere 

pressure its volume decreases up to 4C and then 

increases till 0C. 

R) After a shower of rain, a rainbow is seen in the direction 

apposite of the sun. 

S) To an astronaut, the outer space appears white.
 

 1) P and R  2) P, Q and R 

 3) Q and R  4) Q, R and S 

àíZ H«$. 2 : Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV? 

P) W‘m}ñQ>°Q> ho CnH$aU Vmn‘mZ ‘moOÊ¶mgmR>r dmnaVmV. 

Q) Oa nmUr 10 g| nmgyZ 0 g| n¶ªV W§S> Ho$bo Va Ë¶mMo 
AmH$ma‘mZ 4 go§ n¶ªV H$‘r hmoV OmVo d Ë¶mZ§Va 0 g| n¶ªV 
dmT>V OmVo. 

R) nmD$g nS>ë¶mZ§Va gy¶m©À¶m {déÕ {Xeobm B§ÐYZwî¶ {XgVo. 
S) A§Vamidram§Zm ~mhoarb AdH$me nm§T>ao {XgVo. 
 1) P Am{U R  2) P, Q Am{U R 

 3) Q Am{U R  4) Q, R Am{U S 
Question no. 3 : Which of the following are wrong 

statements. 

A) Location of Ranchi is to the South of tropic of cancer. 

B) River Meghana is a tributary of Padma. 

C) Capital of Chhattisgad is located on N. H. 6. 

D) Bhopal is located on N. H. 3. 

 1) A and B are wrong statement. 

 2) C is correct D is wrong statement. 

 3) B is correct C is wrong statement. 

 4) A is wrong D is correct statement. 

àíZ H«$. 3 : Imbrbn¡H$s MwH$sMo {dYmZ {ZdS>m. 
A) am§MrMo ñWmZ H$H©$d¥ÎmmÀ¶m X{jUog Amho. 
B) ‘oKZm hr nÙm ZXrMr CnZXr Amho. 
C) N>ÎmrgJS>Mr amOYmZr NH 6 ¶m ‘hm‘mJm©da Amho. 
D) ^monmi eha NH 3 ¶m ‘mJm©da Amho. 
 1) A Am{U B {dYmZo MyH$ AmhoV. 
 2) C ho {dYmZ ~amo~a Amho Va D ho MyH$ Amho. 

 3) {dYmZ B ~amo~a Va C ho MyH$ Amho. 

 4) {dYmZ A MyH$ Va {dYmZ D ~amo~a Amho.  

Question no. 4 : Select the correct office bearers of the 1
st
 

meeting of the constituent Assembly. 

A) Dr. Rajendra Prasad was elected as the permanent 

Chairman. 

B) H. C. Mookerjee was nominated as the Vice Chairman 

unanimously. 

C) B. N. Rao was appointed as the constitutional legal 

advisor. 

 1) Only A  2) Only A and C 

 3) Only A and B 4) All of the above 

àíZ H«$. 4 : KQ>Zm g{‘VrÀ¶m n{hë¶m g^oVrb nXm{YH$mè¶m§Mr Zmdo 
~amo~a {ZdS>m. 
A) S>m°. amO|Ð àgmX ho g^oMo H$m¶‘ñdê$nr AÜ¶j åhUyZ {ZdSy>Z Ambo 

hmoVo. 
B) EM. gr. ‘wIOu ho g^oMo CnmÜ¶j åhUyZ gdm©Zw‘Vo {Z¶w³V 

H$aÊ¶mV Ambo hmoVo. 
C) ~r. EZ. amd ¶m§Mr g ôMo KQ>ZmË‘H$ g„mJma åhUyZ {Z¶w³Vr 

H$aÊ¶mV Ambr hmoVr. 
 1) ’$³V A  2) ’$³V A Am{U C 

 3) ’$³V A Am{U B 4) darb gd© 
Question no. 5 : Which of the following countries will 

have a double digit growth rate in the financial year 2022 as 

per the International Monetary Fund? 

 1) China  2) USA 

 3) India  4) Russia 

àíZ H«$. 5 : Am§Vaamḯ>r¶ ZmUo {ZYrZwgma 2022 À¶m Am{W©H$ dfm©V 
Imbrbn¡H$s H$moUË¶m XoemMm {dH$mg Xa XmoZ A§H$s Agy eHo$b? 
 1) MrZ 2) ¶wEgE 3) ^maV 4) a{e¶m 
Question no. 6 : Which of the following statements is a 

cause and which is an effect? 

1) India’s rural population continues to survive on the 

subsistence agriculture leading to disguised 

unemployment. 

2) Sectors like automobile, engineering goods, chemicals 

have not been employment intensive. 

 1) Statement 1 is effect, 2 is cause. 

 2) Statement 1 is cause, 2 is effect. 

 3) Both the statements are not related to each other. 

 4) Can not say 

àíZ H«$. 6 : Imbrbn¡H$s H$moUVo {dYmZ ho H$maU Am{U H$moUVo n[aUm‘ 
Amho Vo gm§Jm. 
1) ^maVmMr J«m‘rU bmoH$g§»¶m hr gmVË¶mZo {Zdm©hr eoVrda Adb§~yZ 
Amho. Ë¶m‘wio (àÀN>ÝZ) Nw>nr ~oH$mar {Z‘m©U hmoVo. 
2) Am°Q>mo‘mo~mB©b, B§{OZr¶[a¨J dñVy, agm¶Zo BË¶mXr joÌo amoOJma 
àYmZ ZmhrV. 
 1) {dYmZ 1 n[aUm‘ d 2 ho H$maU Amho. 

 2) {dYmZ 1 H$maU d 2 ho n[aUm‘ Amho. 
 3) XmoÝhr {dYmZm§Mm EH$‘oH$m§er g§~§Y Zmhr. 

 4) gm§JVm ¶oV Zmhr. 
Question no. 7 : Which of the following schemes were 

rejected by the cabinet mission plan? 

A) Creation of Pakistan B) Separate electorate 

C) Partition of India D) Reservation  

 1) only A, B  2) only C, D 

 3) only B  4) only A, C 
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àíZ H«$. 7 : H°${~ZoQ> {‘eZZo H$moUVr/H$moUË¶m ¶moOZm ’o$Q>mië¶m? 

A) nm{H$ñVmZMr {Z{‘©Vr B) ñdV§Ì ‘VXma g§K 
C) ^maVmMr ’$miUr  D) AmajU  
 1) ’$³V A, B  2) ’$³V C, D 

 3) ’$³V B  4) ’$³V A, C 

Question no. 8 : Match the pair.  

àíZ H«$. 8 : OmoS>çm Owidm. 

 Scientists   emók  Work  H$m‘ 

W.  Newton  Ý¶yQ>Z i) Relativity  gmnojVm 
X.  Pauli   nmD$br ii) Periodic table  AmdV© gmaUr 
Y.  Einstein  AmBZñQ>mBZ iii) Genetics  AZwdm§{eH$s 
Z. Mendeleef   ‘|S>obr’$ iv) Motion  J{V 

   v) Exclusion  ~{hîH¥$Vr 

 1) W - (v)       X – (ii)      Y – (iii)       Z – (i) 

 2) W - (iv)      X – (v)      Y – (i)        Z – (ii) 

 3) W - (ii)      X – (i)       Y – (iv)      Z – (iii) 

 4) W - (v)       X – (iii)     Y – (i)       Z – (ii) 

Question no. 9 : Concept “Cloud Burst” is expressed when 

....... 

 1) Amount of rainfall is 1 MM within one second. 

  2) Amount of rainfall 100 cm within 48 Hrs. 

 3) Amount of rainfall 100 MM within one hour. 

 4) Rainfall 1200 cm within a day. 

àíZ H«$. 9 : T>J’w$Q>r hr g§km dmnaVmV Ooìhm ........ 
 1) 1 goH§$XmV 1 {‘.{‘. nmD$g nS>Vmo. 

 2) 48 VmgmV 100 go. ‘r. nmD$g nS>Vmo. 

 3) EH$m VmgmV 100 {‘.‘r. nmD$g nS>Vmo. 
 4) EH$m {XdgmV 1200 go‘r nmD$g nS>Vmo. 
Question no. 10 : Identify the correct statements. 

i) The Assembly adopted the Preamble as presented by the 

Drafting Committee. 

ii) The Assembly made changes and adopted the changed 

Preamble.  
 1) Only ii  2) Only i 

 3) Both  4) None of the Above 

àíZ H«$. 10 : ~amo~a {dYmZ/Zo AmoiIm. 
i) ‘gwXm g{‘VrZo gmXa Ho$bobm gaZm‘m KQ>Zm g{‘VrZo ñdrH$mabm. 
ii) KQ>Zm g{‘VrZo Ë¶mV H$mhr ~Xb Ho$bo Am{U ‘J gaZm‘m 

ñdrH$mabm. 
 1) Ho$di ii  2) Ho$di i 
 3) XmoÝhr  4) XmoÝhrn¡H$s H$moUVohr Zmhr. 
Question no. 11 : What is the theme of the second 

Neglected Tropical Disease Day (NTD Day) observed on 

January 30, 2021? 

 1) Face NTDs : End the neglect 

 2) Good Vs Evil 

 3) Show courage and perseverance 

 4) Beat NTDs 

àíZ H«$. 11 :  30 OmZodmar 2021 amoOr nmibm Joboë¶m Xþgè¶m 
Xþb©{jV CîUH${Q>~§Yr¶ amoJ (EZ Q>r S>r {XZ) {XZmMr g§H$ënZm H$m¶ 
hmoVr? 
 1) EZ Q>r S>rbm gm‘moao Om : {ZîH$miOrnUmMm A§V H$am 
 2) Mm§Jbo {déÕ dmB©Q> 
 3) Y¡¶© Am{U {MH$mQ>r XmIdm 
 4) EZ Q>r S>r da {dO¶ {‘idm 

Question no. 12 : Sustainable development goals deal with 

........ 

 1) Economic development. 

 2) Environmental protection. 

 3) Social Development. 

 4) All of the above. 

àíZ H«$. 12 : emídV {dH$mgmMr C{ÔîQ>ço ......... ømÀ¶mer g§~§{YV 
AmhoV. 

 1) Am{W©H$ {dH$mg 2) n¶m©daUmMo g§ajU 

 3) gm‘m{OH$ {dH$mg 4) darb gd© 

Question no. 13 : A group of five Monolithic rock 

cutshrines at Mahabalipuram were excavated during the 

rule of the pallava king / kings ........ 

A) Narsimhavarman I  B) Nandivaarman II 

C) Simhavishnu I D) Mahendravarman I 

E) Simhavishnu II 

 1) only A and B 2) only A 

 3) only C, D, E 4) only A, D 

àíZ H«$. 13 : ‘‘hm~brnwa‘’ ¶oWrb nmM EH$mí‘H$moard ‘§{Xam§Mm g‘yh 
......... ¶m n„d amOmÀ¶m / amOm§À¶m H$ma{H$XuV H$moaÊ¶mV Ambm. 
A) Zaqghd‘©Z àW‘ B) Z§{Xd‘©Z {ÛVr¶ 
C) qgh{dîUw àW‘  D) ‘h|Ðd‘©Z àW‘ 
E) qgh{dîUw {ÛVr¶ 

 1) ’$³V A Am{U B 2) ’$³V A 

 3) ’$³V C, D, E 4) ’$³V A, D 

Question no. 14 : Which of the following is the correct 

route of circulation of blood in human heart? 

 1) Left atrium – right atrium – right ventricle – 

pulmonary artery – lungs – pulmonary veins – 

left ventricle – aorta  

 2) right atrium – left atrium – right ventricle – 

pulmonary artery – lungs – pulmonary vein – left 

ventricle – aorta 

 3) right atrium – right ventricle – pulmonary  

artery – lungs – pulmonary  vein – left atrium – 

left ventricle – aorta 

 4) right atrium – right ventricle – pulmonary vein – 

lungs – pulmonary artery – left atrium – left 

ventricle – aorta. 

àíZ H«$. 14 : ‘mZdr öX¶mV a³Vm{^gaUmMm ¶mo½¶ ‘mJ© Imbrbn¡H$s 
H$moUVm Amho? 
 1) S>mdo AmqbX - COdo AmqbX - COdo {Zb¶ - ’w$â’w$gr¶ 

Y‘Zr - ’w$â’w$go - ’w$â’w$gr¶ ‘hmera - S>mdo {Zb¶ - 
‘hmamo{hUr 

 2) COdo AmqbX - S>mdo AmqbX - COdo {Zb¶ - ’w$â’w$gr¶ 
Y‘Zr - ’w$â’w$go - ’w$â’w$gr¶ ‘hmera - S>mdo {Zb¶ - 
‘hmamo{hUr 

 3) COdo AmqbX - COdo {Zb¶ - ’w$â’w$gr¶ Y‘Zr - ’w$â’w$go 
- ’w$â’w$gr¶ ‘hmera - S>mdo AmqbX - S>mdo {Zb¶ - 
‘hmamo{hUr 

 4) COdo AmqbX - COdo {Zb¶ - ’w$â’w$gr¶ ‘hmera - 
’w$â’w$go - ’w$â’w$gr¶ Y‘Zr - S>mdo AmqbX - S>mdo {Zb¶ - 
‘hmamo{hUr 
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Question no. 15 : Consider the following statements 

regarding sedimentary rocks and find the answer. 

A) Sedimentary rocks are formed on the earth surface by 

the hydrological system. 

B) Formation of rock by the weathering of pre-existing 

system. 

C) Sedimentary rocks contain fossils. 

D) Sedimentary rocks are having layers. 

 1) A and B   2) A and D 

 3) B, C and D 4) A, B, C and D 

àíZ H«$. 15 : ñV[aV IS>H$m§~m~VÀ¶m {dYmZm§dê$Z CÎma emoYm. 
A) ñV[aV IS>H$m§Mr {Z{‘©Vr ObMH«$m§‘wio hmoVo. 
B) IS>H$m§Mr {Z{‘©Vr hr {dXmaU Pmboë¶m IS>H$m§da hmoVo. 
C) ñV[aV IS>H$m§‘Ü¶o àm{UO Adeof AmT>iVmV. 
D) ñV[aV IS>H$m§‘Ü¶o ñVa AmT>iVmV. 
 1) A Am{U B   2) A Am{U D 

 3) B, C Am{U D 4) A, B, C Am{U D 

Question no. 16 : MDMK Chief Vaiko filed a Writ of 

Habeas Corpus against detention of ........ 

 1) Farooq Abdullah 2) Mehbooba Mufti 

 3) Omar Abdulla 4) Gulam Nabi Azad 

àíZ H«$. 16 : ......... ¶m§À¶m ñWmZ~ÕVo{déÕ E‘S>rE‘Ho$ à‘wI 
dm¶H$mo ¶m§Zr XohmonpñWVr/~§Xr àË¶jrH$aU [aQ>Mm AO© Ho$bm Amho. 
 1) ’$méI AãXþ„m 2) ‘oh~y~m ‘wâVr 
 3) Amo‘a AãXþ„m 4) Jwbm‘ Z~r AmPmX 
Question no. 17 : Serially which are the three top countries 

in the Coronavirus Performance Index released by Lowry 

Institute? 

 1) Austrelia, New Zealand, Japan 

 2) New Zealand, Vietnam, Taiwan 

 3) Vietnam, Japan, Taiwan 

 4) Taiwan, Vietnam, New Zealand 

àíZ H«$. 17 : bm°ar g§ñWoZo Omar Ho$boë¶m H$amoZm {dfmUy H$m‘{JarÀ¶m 
{ZX}em§H$mÀ¶m H«${‘Ho$V gdm©V Cƒ ñWmZr Imbrbn¡H$s H$moUVo VrZ Xoe 
H«$‘mZo AmhoV? 
 1) Am°ñQ́>o{b¶m, Ý¶yPrbÊS>, OnmZ 
 2) Ý¶yPrbÊS>, pìhEVZm‘, V¡dmZ 
 3) pìhEVZm‘, OnmZ, V¡dmZ 
 4) V¡dmZ, pìhEVZm‘, Ý¶yPrbÊS> 
Question no. 18 : Which of the following are not the 

components of Multidimensional Poverty index? 

 1) Sanitation, life expectancy, years of schooling, 

assets like TV, radio and car. 

 2) School attendance, cooking fuel, infant mortality 

rate, nutrition. 

 3) Child mortality, years of schooling, drinking 

water, assets like cycle, computer, telephone. 

 4) Nutrition, sanitation, per capita income, drinking 

water. 

àíZ H«$. 18 : Imbrbn¡H$s H$moUVo ~hþAm¶m‘r Xm[aÐç {ZX}em§H$mMo 
KQ>H$ ZmhrV? 
 1) ñdÀN>Vm, Am¶w‘m©Z, embo¶ df}, Q>rìhr, ao{S>Amo, JmS>r 

ømgmaIr ‘mb‘Îmm 
 2) embo¶ hOoar, ñd¶§nmH$mMo B§YZ, ~mb ‘¥Ë¶yXa, nmofU 
 3) ‘wbm§Mm ‘¥Ë¶yXa, embo¶ df}, {nÊ¶mMo nmUr, gm¶H$b, 

H$m°åß¶wQ>a, Q>o{b’$moZ ømgmaIr ‘mb‘Îmm 
 4) nmofU, ñdÀN>Vm, Xa S>moB© CËnÞ, {nÊ¶mMo nmUr 

Question no. 19 : Given below are the two statements one 

labelled as Assertion (A) and the other labelled as Reason 

(R) : 

Assertion (A) : The early Aryan settlers remain involved in 

taking possession of the land of the seven rivers represented 

by the Indus and its tributaries. 

Reason (R) : We noticed conflict between various Aryan 

tribes 

Read the above statements and select the correct answer 

from the codes below. 

 1) (A) is correct but (R) is false. 

 2) (A) is false but (R) is true. 

 3) Both (A) and (R) are incorrect . 

 4) Both (A) and (R) are correct and (R) is the 

correct explanation of (A) 

àíZ H«$. 19 : Imbr {Xboë¶m XmoZ {dYmZmn¡H$s {dYmZ (A) Mo {dYmZ 
(R) ho H$maU Amho.  
{dYmZ (A) : gwédmVrMo Am¶© bmoH$ qgYw ZXr dm {VÀ¶m CnZÚm 
Agboë¶m gmV ZXrÀ¶m n[agamVrb àXoemda Amnbo gm‘«mÁ¶ {Z‘m©U 
H$aÊ¶mV JH©$ am{hbo. 

H$maU (R) : Amnë¶m bjmV ¶oVo H$s {d{dY Am¶© O‘mVrV g§Kf© hmoV 
am{hbm Amho. 

{Xboë¶m {dYmZm§Mm H$miOrnyd©H$ {dMma H$ê$Z Imbr {Xboë¶m n¶m©¶mVyZ 
CÎma {ZdS>m. 

 1) (A) ~amo~a Amho, na§Vw (R) MwH$sMo Amho. 

 2) (A) MwH$sMo Amho, na§Vw (R) ~amo~a Amho. 

 3) (A) Am{U (R) hr XmoÝhr {dYmZo MwH$sMr AmhoV. 

 4) (A) Am{U (R) hr XmoÝhr [dYmZo ~amo~a AgyZ (R) ho (A) Mo 
~amo~a ñnï>rH$aU Amho. 

Question no. 20 : An assertion (A) and reason (R) is given 

below. Select the correct alternative. 

A : Carbon has the ability to form a large number of 

compounds. 

R : Catenation property of carbon is very high. 

 1) Both A and R are true and R is correct 

explanation of A. 

 2) Both A and R are true but R is not correct 

explanation of A. 

 3) A is true but R is false. 

 4) A is false but R is true. 

àíZ H«$. 20 : EH$ {dYmZ (A) Am{U EH$ H$maU (R) Imbr {Xbo Amho. 
¶mo½¶ n¶m©¶ {ZdS>m. 

A : H$m~©Zbm Iyn ‘moR>çm g§»¶oZo g§¶wJo V¶ma H$aÊ¶mMr j‘Vm Amho. 

R : H$m~©ZMm e¥§Ibm~§YZ JwUY‘© Iyn OmñV Amho. 

 1) A Am{U R XmoÝhrhr gË¶ AmhoV Am{U R ho A Mo ¶mo½¶ 
ñnï>rH$aU Amho. 

 2) A Am{U R XmoÝhrhr gË¶ AmhoV nU R ho A Mo ¶mo½¶ 
ñnï>rH$aU Zmhr. 

 3) A gË¶ Amho nU R ho MwH$sMo Amho. 

 4) A MwH$sMo Amho nU R ho gË¶ Amho. 
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Question no. 21 : Select the proper answer from the given 

list of Dams and rivers. 

 Dams River 

A) Nagarjunsagar Mahanadi 

B) Matatilla Barakar 

C) Maithon Krishna 

D) Hirakud Betwa 

àíZ H«$. 21 : ZÚm§darb YaUm§À¶m ¶mo½¶ OmoS>çm Owidm. 

 YaU ZXr 

A) ZmJmOw©ZgmJa ‘hmZXr 

B) ‘hm{V„m ~mamH$a 

C) ‘¡Wm°Z H¥$îUm 

D) {hamHy$S> ~oQ>dm 

 1) A – 3,   B – 1,   C – 2,   D – 4 

  2) A – 1,   B – 4,   C – 3,   D – 2 

 3) A – 3,   B – 4,   C – 2,   D – 1 

 4) A – 4,   B – 2,   C – 1,   D – 3 

Question no. 22 : It is the duty of the ........ to ensure that 

federal equilibrium and political stability is not neglected / 

disturbed. 

 1) Chief Minister 2) Governor 

 3) Election Commissioner 4) Attorney General 

àíZ H«$. 22 : g§KamÁ¶r¶ g§VwbZ Am{U amOH$s¶ ñW¡¶© Zï> hmoUma 
Zmhr qH$dm Xþb©{jbo OmUma Zmhr ho nmhÊ¶mMr O~m~Xmar ........ ¶m§À¶m 
da AgVo. 

 1) ‘w»¶‘§Ìr  2) amÁ¶nmb 

 3) {ZdS>UyH$ Am¶w³V 4) ‘hm{Yd³Vm 

Question no. 23 : Which of the following departments will 

implement the ‘Start-up India Seed Fund Scheme (SISFS) 

approved by Central Government? 

 1) Department of Agriculture  

 2) Department of Civil aviation 

 3) Department of Coal and Mines  

 4) Department for Promotion of Industry and 

Internal Trade  

àíZ H«$. 23 : H|$Ð gaH$maZo ‘§Oya Ho$boë¶m ñQ>mQ>©-An {~¶mUo {ZYr 
¶moOZm (Eg Am¶ Eg E’$ Eg) Imbrbn¡H$s H$moUVm {d^mJ H$m¶m©pÝdV 
H$aUma Amho? 

 1) H¥${f {d^mJ  

 2) ZmJar [d‘mZ dmhVwH$ {d^mJ 

 3) H$moigm Am{U ImU {d^mJ 

 4) CÚmoJ Am{U A§VJ©V ì¶mnmamg àmoËgmhZ XoÊ¶mgmR>rMm {d^mJ 

Question no. 24 : Which of the following is not a part of 

non-tax revenue? 

 1) Expenditure incurred on the creation of public 

parks. 

 2) Interest received on loans given to states and 

union territories. 

 3) Dividend received from public sector enterprises. 

 4) Revenue received from social services provided 

by the government. 

 

àíZ H«$. 24 : Imbrbn¡H$s H$m¶ H$aoVa ‘hgwbmMm ^mJ Zmhr? 

 1) gmd©O{ZH$ CÚmZm§da Ho$bobm IM©. 

 2) amÁ¶o Am{U H|$Ðem{gV àXoem§Zm {Xboë¶m H$Om©darb ì¶mO. 

 3) gmd©O{ZH$ joÌmVrb CÚmoJm§H$Sy>Z {‘imbobo bm^m§e. 

 4) gaH$maZo gm‘m{OH$ godm nwa{dë¶mZ§Va {‘iUmam ‘hgyb. 

Question no. 25 : Which of the following statements are 

true regarding ‘Rohillas’? 

A) The Pathans from Afghanistan had settled at the forthills 

of the Himalayas near Ayodhya province. These 

Pathans were known as ‘Rohillas. 

B) ‘Rohillas’ assumed the reins of Indore administration. 

C) Najib Khan was the leader of the Rohillas.  

 1) only A, B  2) only B, C 

 3) only A, C  4) only B 

àíZ H«$. 25 : ‘amo{hbo’ ¶m§À¶m g§X^m©V Imbrbn¡H$s AMyH$ {dYmZo 
H$moUVr? 
A) A’$Jm{UñVmZmVyZ Ambobo nR>mU {h‘mb¶mÀ¶m nm¶Ï¶mer 

A¶moÜ¶oOdi ñWm{¶H$ Pmbo hmoVo ¶m nR>mUm§Zm amo{hbo åhUV. 
B) B§Xm¡aÀ¶m H$ma^mamMr gwÌo amo{hë¶m§Zr g‘W©nUo gm§^mibr. 
C) ‘ZOr~ImZ’ hm amo{hë¶m§Mm gaXma hmoVm. 

 1) ’$³V A, B  2) ’$³V B, C 

 3) ’$³V A, C  4) ’$³V B 

Question no. 26 : Which of the following statements are 

false? 

K) In case of human beings the digestive and breathing 

passage crosses in the larynx. 

L) Approximate oxygen content of unpolluted air is 20%. 

M) Muscle fatigue occurs due to accumulation of pyruvic 

acid. 

àíZ H«$. 26 : Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV? 

K) ‘mZdm‘Ü¶o AÞ‘mJ© Am{U œgZ‘mJ© ñda¶§ÌmV EH$Ì ¶oVmV. 
L) àXþfUa{hV hdo‘Ü¶o Am°p³gOZMo à‘mU gw‘mao 20% AgVo. 
M) nm¶épìhH$ AmåbmÀ¶m g§M¶m‘wio ñZm¶w§‘Ü¶o WH$dm OmUdVmo. 

 1) only L / ’$³V L 2) K and / Am{U L 

 3) L and / Am{U M 4) K and / Am{U M 

Question no. 27 : Number of countries participated in a 

group. 

àíZ H«$. 27 : g§Km§‘Ü¶o gh^mJr AgUmè¶m Xoem§Mr g§»¶m? 

A) EU            B) OPEC       C) SAARC D) ASEAN 

 1) A – 13,  B – 28,  C – 10,  D – 08 

  2) A – 28,  B – 08,  C – 13,  D – 10 

 3) A – 28,  B – 13,  C – 08,  D – 10 

 4) A – 08,  B – 13,  C – 13,  D – 28 

Question no. 28 : According to Consumer Protection Act. 

1986, a three tier system has been created to deal with 

consumer complaints. Which of the following is not a part 

of the system? 

A) National Commission B) State Commission 

C) District Platform D) Tehsil Platform 

 1) Tehsil Platform 2) District Platform 

 3) State Commission 4) National Commission 
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àíZ H«$. 28 : ‘J«mhH$ g§ajU H$m¶Xm 1986’ Zwgma J«mhH$mÀ¶m 
VH«$matMo {ZdmaU H$aÊ¶mgmR>r {ÌñVar¶ àUmbr C^maÊ¶mV Ambr. 
Imbrbn¡H$s H$moUVm Ë¶m ì¶dñWoMm ^mJ Zmhr? 
A) amï´>r¶ Am¶moJ  B) amÁ¶ Am¶moJ 
C) {Oëhm ‘§M  D) VmbwH$m ‘§M 

 1) VmbwH$m ‘§M  2) {Oëhm ‘§M 

 3) amÁ¶ Am¶moJ  4) amï´>r¶ Am¶moJ 

Question no. 29 : Which of the following organizations has 

released the world Economic Situation and Prospects 2021? 

 1) IMF  

 2) UN 

 3) World Bank 

 4) Asian Development Bank 

àíZ H«$. 29 : Imbrbn¡H$s H$moUË¶m g§KQ>ZoZo OmJ{VH$ Am{W©H$ 
n[apñWVr Am{U g§^mì¶Vm 2021 Mo àH$meZ Ho$bo Amho? 

 1) Am¶E‘E’$  2) ¶wEZ 

 3) OmJ{VH$ ~±H$ 4) Am{e¶m¶r {dH$mg ~±H$ 

Question no. 30 : According to the 2020 Economic Survey, 

in 2019-20 ...... 

A) India’s top 10 trading partners accounted for more than 

50% of India’s merchandise trade. 

B) India has maintained trade surpluses with Saudi Arabia 

and Germany 

 1) Both A and B are correct 

 2) Both A and B are incorrect 

 3) A is correct, B is incorrect 

 4) A is incorrect, B is correct 

àíZ H«$. 30 : 2020 À¶m Am{W©H$ nmhUr AhdmbmZwgma 2019-20 
‘Ü¶o ........ 

A) ^maVmÀ¶m EHy$U ì¶mnmamVrb {dH«$s ‘mbmÀ¶m 50% dmQ>m hm n{hë¶m 
10 ì¶mnmar ^mJrXmam§Mm Amho. 

B) gm¡Xr Aao{~¶m Am{U O‘©Zr~amo~a ^maVmZo ì¶mnma A{Yeof amIbm 
Amho. 

 1) A Am{U B XmoÝhr ~amo~a AmhoV. 

 2) A Am{U B XmoÝhr A¶mo½¶ AmhoV. 

 3) A ¶mo½¶ Amho, B A¶mo½¶ 

 4) A A¶mo½¶ Amho, B ¶mo½¶ Amho. 

Question no. 31 : From the Ashta Pradhan Mandal of 

Chhatrapati Shivaji Maharaj who had no compulsion to 

undertake military expedition? 

A) Sumant B) Amatya C) Nyayadhish 

D) Panditrao E) Sachiv E) Peshwa 

 1) only A, B, C 2) only C, D 

 3) only E, F  4) only A, C F 

àíZ H«$. 31 : N>ÌnVr {edmOr ‘hmamOm§À¶m Aï>àYmZ ‘§S>imVrb 
H$moUmbm bîH$ar ‘mo{h‘m§da OmUo ~§YZH$maH$ ZìhVo? 
A) gw‘§V B) A‘mË¶ C) Ý¶m¶mYre 
D) n§{S>Vamd E) g{Md F) noedm 

 1) ’$³V A, B, C 2) ’$³V C, D 

 3) ’$³V E, F  4) ’$³V A, C, F 

 

Question no. 32 : Which of the following substances can 

not be further decomposed by ordinary chemical means? 

A) Helium  B) Sugar C) Water  D) Silver 

  1) A and D 2) A and B 3) B and C 4) Only D 

àíZ H«$. 32 : Imbrbn¡H$s H$moUVm/Vo nXmW© gm‘mÝ¶ amgm¶{ZH$ 
nÕVrZo {dKQ>Z H$aVm ¶oUma Zmhr/V? 

A) ho{b¶‘ B) gmIa C) nmUr D) Mm§Xr 

 1) A Am{U D 2) A Am{U B 3) B Am{U C 4) ’$³V D 

Question no. 33 : Which of the following statements are 

correct? 

A) Gravitational force of the Jupitor is two and half times 

that of the earth 

B) 75% of the solar rays are reflected from the clouds on 

the Venus. 

C) Diameter of the mercury is less than the half of the 

earth’s diameter. 

D) There are two satellites to the mars. 

 1) Statements A and B are correct C is wrong. 

 2) Statement ABC are wrong D is correct. 

 3) Statements CD are wrong B is correct. 

 4) All statements are correct.  
àíZ H«$. 33 : Imbrbn¡H$s AMyH$ {dYmZo H$moUVr? 
A) JwéMr JwéÎdmH$f©Ue³Vr n¥ÏdrÀ¶m AS>rM nQ> Amho. 
B) ewH«$mdarb T>Jm§À¶m AmdaUm‘wio 75% gy¶©{H$aUm§Mo namdV©Z hmoVo. 
C) n¥ÏdrÀ¶m ì¶mgmÀ¶m AÜ¶m©nojm hm H$‘r ì¶mg ~wYmMm Amho. 
D) ‘§Jimbm XmoZ CnJ«h AmhoV. 

 1) A Am{U B AMyH$ Va C ho MyH$ Amho. 

 2) ABC hr {dYmZo MyH$ AgyZ D ~amo~a Amho. 

 3) C Am{U D {dYmZo MyH$ AgyZ B ho ~amo~a Amho. 

 4) darb gd© {dYmZo ~amo~a AmhoV.  

Question no. 34 : Find the wrong pair. 

A) President i) Ordinance making power 

B) Prime Minister ii) Leader of the Party 

C) Attorney General iii) First Law officer 

D) Governor iv) Executive Head of the Union 

 1) B – ii 2) C – iii 3) D – iv 4) A – i 

àíZ H«$. 34 : MwH$sMr OmoS>r AmoiIm. 

A) amï´>nVr i) dQ>h²Hy$‘ H$mT>Ê¶mMm A{YH$ma 

~) n§VàYmZ ii) njmMm ZoVm 

H$) ‘hmÝ¶m¶dmXr iii) àW‘ A{Y{Z¶‘ A{YH$mar 

S>) amÁ¶nmb iv) H|$ÐmMm H$m¶©H$mar à‘wI 

 1) ~ – ii 2) H$ – iii 3) S> – iv 4) A – i 

Question no. 35 : Which of the following countries has 

secured the first position in the corruption perception Index 

2020? 

 A) USA  B) New Zealand 

 C) Denmark  D) India 

 1) B and C  2) A and B 

 3) C and D  4) A and D 
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àíZ H«$. 35 : Imbrbn¡H$s H$moUË¶m XoemZo «̂ï>mMma YmaUm {ZX}em§H$ 
2020 ‘Ü¶o àW‘ H«$‘m§H$ {‘idbm Amho? 
 A) ¶wEgE ~) Ý¶yPrbÊS> H$) S>oÝ‘mH©$ S>) ^maV 

 1) ~ Am{U H$  2) A Am{U ~ 

 3) H$ Am{U S>  4) A Am{U S> 

Question no. 36 : Which of the following describes 

absolute poverty? 

 1) Number of people below poverty line. 

 2) Number of people below poverty line described in 

terms of monthly consumer expenditure. 

 3) Number of people falling under the category of 

agricultural laborers. 

 4) Number of people having limited access to assets. 

àíZ H«$. 36 : Imbrbn¡H$s H$m¶ {Zanoj Xm[aÐçmMo dU©Z H$aVo? 

 1) Xm[aÐç aofoImbrb bmoH$m§Mr g§»¶m. 

 2) àVr ‘{hZm Cn^moJmdarb IMm©Zwgma R>a{dë¶m Joboë¶m 
Xm[aÐç aofoImbrb bmoH$m§Mr g§»¶m. 

 3) eoV ‘Oya øm àdJm©V ¶oUmè¶m bmoH$m§Mr g§»¶m. 

 4) ‘ÎmoMr ‘¶m©{XV CnbãYVm AgUmè¶m bmoH$m§Mr g§»¶m. 

Question no. 37 : Which of the following revolutionaries  

were hanged in connection with Kakori Conspiracy case? 

A) Ashfaqullah khan  B) Bhagat Singh 

C) Sukhdev  D) Rajguru 

E) Roshanlal  F) Chandrashekhar Azad 

G) Ramprasad Bismil 

 1) only A, B, C 2) only B, C, D 

 3) only A, E, G 4) only C, E, F 

àíZ H«$. 37 : Imbrbn¡H$s H$moUË¶m H«$m§{VH$maH$m§Zm H$mH$moar H$Q> 
IQ>ë¶mV ’$mer {Xbo Jobo? 
A) Ae’$mH$C„m ImZ B) ^JVqgJ  
C) gwIXod  D) amOJwé 
E) amoeZbmb  F) M§ÐeoIa AmPmX 

G) am‘àgmX {~pñ‘b 

 1) ’$³V A, B, C 2) ’$³V B, C, D 

 3) ’$³V A, E, G 4) ’$³V C, E, F 

Question no. 38 : Match the following pairs at dairy breed 

of cattles and countries of their origin. 

àíZ H«$. 38 : JmBªÀ¶m XÿY XoUmè¶m OmVr Am{U Ë¶mÀ¶m ‘yi Xoem§À¶m 
OmoS>çm bmdm. 

 Dairy breed of cattles  

Jwam§Mm XÿY XoUmè¶m OmVr 
 Countries of their 

origin/ ‘yi Xoe 

P)  Holstein  hmobñQ>mBZ J) Australia  Am°ñQ´>o{b¶m 

Q)  Jersey   Ogu K) Sweden  ñdrS>Z 

R)  Brown swiss Vn{H$ar pñdg L) Scotland  ñH$m°Q>b§S> 

S) Aryshire  Am¶©{ea M) England  B§½b§S> 

  N) Switzerland  pñdQ>PbªS> 

  O) Holland  hm°b§S> 

 1) P – O   Q – M   R – N   S – L 

 2) P – O   Q – L   R – M   S – N 

 3) P – J    Q – M  R – L    S – N 

 4) P – K   Q – L   R – N    S – O 

Question no. 39 : Which of the following statements is an 

odd one. 

 1) Absolute humidity on the sea is more than the 

land mass. 

  2) On the Polar areas absolute humidity is relatively 

low. 

 3) On the equator absolute humidity is always high. 

 4) Absolute humidity is always constant. 

àíZ H«$. 39 : {dg§JV {dYmZ AmoiIm. 

 1) {Zanoj AmÐ©Vm g‘wÐ«mda ŷ^mJmnojm A{YH$ AgVo. 

 2) Y«wd àXoemV {Zanoj AmÐ©Vm VwbZoZo H$‘r AgVo. 

 3) {dfwdd¥Îmr¶ àXoemV {Zanoj AmÐ©Vm hr Zoh‘rM OmñV AgVo. 

 4) {Zanoj AmÐ©Vm hr Zoh‘r pñWa AgVo. 

Question no. 40 : Which of the following is a correct 

statement?  
a) President is a part of the Legislature in India. 

b) Parliament is more powerful than the press. 

 1) b  2) a 

 3) a and b both 4) none of the two 

àíZ H«$. 40 : Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho? 
A) amï´>nVr ^maVmVrb H$m¶Xo‘§S>imMm ^mJ AgVmV. 
~) g§gX hr àognojm åhUOo dV©‘mZ nÌm§nojm OmñV ep³V‘mZ Amho. 

 1) ~  2) A 

 3) A Am{U ~ XmoÝhr 4) XmoÝhrn¡H$s H$moUVohr Zmhr 

Question no. 41 : For which of the following countries 

Giuseppe Conte has served as Prime Minister? 

 1) Philippines  2) Italy 

 3) Spain  4) Poland  

àíZ H«$. 41 : {OD$goßnr H$m±Q>o ¶m§Zr Imbrbn¡H$s H$moUË¶m XoemMr 
n§VàYmZ åhUyZ godm Ho$br Amho? 

 1) {’${bnmBÝg  2) BQ>br> 

 3) ñnoZ  4) nmob§S 

Question no. 42 : Which of the following is not added 

while calculating  national income? 

A) Income earned from the sale of second-  hand car. 

B) Output produced in the agricultural sector. 

C) Output produced by the farmers for subsistence. 

 1) A and B  2) B and C 

 3) only A  4) A and C 

àíZ H«$. 42 : amḯ>r¶ CËnÞ ‘mnZmV Imbrbn¡H$s H$m¶ Yabo OmV 
Zmhr? 

A) OwZr JmS>r {dHy$Z {‘imbobo CËnÞ 

B) H¥$fr joÌmVrb CËnmXZ 

C) eoVH$è¶m§Zr {Zdm©hmgmR>r Ho$bobo CËnmXZ 

 1) A Am{U B  2) B Am{U C 

 3) ’$³V A   4) A Am{U C 

Question no. 43 : Dr. Babasaheb Ambedkar demanded for 

......... in Round Table Conference. 

A) Separate electorate B) Reservation 

C) Education for Women D) Temple entry 

 1) only A, B  2) only A 

 3) only A, D  4) only B, C 
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àíZ H«$. 43 : S>m°. ~m~mgmho~ Am§~oS>H$am§Zr Jmob‘oO n[afXoV ........ Mr 
‘mJUr Ho$br. 
A) ñdV§Ì ‘VXmag§K B) AmajU 
C) ór {ejU  D) ‘§{Xa àdoe 

 1) ’$³V A, B  2) ’$³V A 

 3) ’$³V A, D  4) ’$³V B, C 

Question no. 44 : Which of the following mixture of gases 

is commonly called as ‘Producer Gas’? 

àíZ H«$. 44 : Imbrbn¡H$s H$moUVo dm¶y§Mo {‘lU ‘àmoS>çwga J°g’ åhUyZ 
gd©gmYmaUnUo g§~moYbo OmVo. 

 1) CO + N2 2) CO2 + H2 3) CO + H2 4) H2 + N2 

Question no. 45 : 82.5 Longitude passes from the ....... 

district of Maharashtra. 

 1) Bhandara  2) Gadchiroli 

 3) Chandrapur 4) None of the above 

àíZ H«$. 45 : 82.5 ‘hmamḯ>mVrb aoImd¥Îm OmUmam {Oëhm ........ 

 1) §̂S>mam  2) JS>{Mamobr 

 3) M§Ðnya  4) darbn¡H$s EH$hr Zmhr 

Question no. 46 : Which of the following countries has 

signed an order to allow transgender persons to serve in 

military roles? 

 1) UK  2) Singapore 

 3) USA  4) Pakistan 

àíZ H«$. 46 : Imbrbn¡H$s H$moUË¶m XoemZo V¥Vr¶n§Wr bmoH$m§Zm bîH$ar 
^y{‘Ho$VyZ godm XoÊ¶mÀ¶m AmXoemda ghr Ho$br Amho? 

 1) ¶wHo$  2) qgJmnya 

 3) ¶wEgE  4) nm{H$ñVmZ 

Question no. 47 : Permanent five-judge constitution bench 

enables Supreme Court ........ 

 1) to fulfil its role as constitutional court. 

 2) to hear cases involving statute and complex laws. 

 3) 5 three-judge benches to adjudicate constitutional 

key matters. 

 4) All of the above. 

àíZ H«$. 47 : gdm}ƒ Ý¶m¶mb¶mVrb nmM Ý¶m¶mYrem§Mo H$m¶‘ñdê$nr 
KQ>ZmnrR> ñWmnZ Ho$ë¶m‘wio gdm}ƒ Ý¶m¶mb¶mbm nwT>rbn¡H$s H$moUVr 
H$m‘o H$aUo e³¶ hmoV Amho? 

 1) g§d¡Ym{ZH$ Ý¶m¶mb¶ åhUyZ ŷ{‘H$m {Z^mdVm ¶oVo. 

 2) Jw§VmJw§VrMo H$m¶Xo Am{U {Z¶‘ ¶mg§X^m©Vrb IQ>bo MmbdVm 
¶oVmV. 

 3) VrZ Ý¶m¶mYrem§Mr nmM nrR>o g§d¡Ym{ZH$ H$irÀ¶m ~mOy§da 
Ý¶m¶ XoUo. 

 4) darbn¡H$s gd© 

Question no. 48 : During inflation ........ 

 1) Increase government expenditure on transfer 

payments and reduce interest rates. 

 2) Decrease government expenditure on transfer 

payments and reduce interest rates. 

 3) Increase interest rates and decrease government 

expenditure on transfer payments. 

 4) Decrease government expenditure on 

infrastructure and increase interest rates. 

 

àíZ H«$. 48 : MbZdmT> AgVmZm ........ 

 1) hñVm§V[aV aH$‘m§darb gaH$mar IM© dmT>dmdm Am{U ì¶mO 
Xa H$‘r H$amdo. 

 2) hñVm§V[aV aH$‘m§darb gaH$mar IM© H$‘r H$amdm Am{U 
ì¶mO Xa H$‘r H$amdo. 

 3) ì¶mO Xa dmT>dmdo Am{U hñVm§VarV aH$‘m§darb gaH$mar 
IM© H$‘r H$amdm. 

 4) nm¶m^yV gw{dYm§darb gaH$mar IM© H$‘r H$amdm Am{U ì¶mO 
Xa dmT>dmdo. 

Question no. 49 : The term PVC in polymer chemistry 

refers to ........ 

 1) Poly vinyl carbonate 

 2) Poly vinyl chloride 

 3) Phosphovinyl chloride  

 4) Para vinyl chlorobenzene 

àíZ H«$. 49 : ~hdm[aH$s agm¶ZemómV PVC hr g§km ....... g§X^m©V 
dmnabr OmVo. 
 1) nm°{b pìh{Zb H$ma~moZoQ> 2) nm°{bpìh{Zb ³bmoamB©S> 

 3) ’$m°ñ’$mopìh{Zb ³bmoamB©S> 4) n°ampìh{Zb ³bmoamo~|{PZ 

Question no. 50 : Which of the following has launched the 

‘Krishi Sakha’ app for farmers? 

 1) Bharati Axa General insurance  

 2) Axis Bank 

 3) Karnataka Grameen Vikas Bank 

  4) Bank of Baroda 

àíZ H«$. 50 : Imbrbn¡H$s H$moUr eoVH$è¶m§gmR>r ‘H¥${f gIm’ ho A°n 
H$m¶m©pÝdV Ho$bo Amho? 

 1) ^maVr A°³gm OZab {d‘m 2) A°p³gg ~±H$ 

 3) H$Zm©Q>H$ J«m‘rU {dH$mg ~±H$ 4) ~±H$ Am°’$ ~S>moXm 

 

PART – II / ^mJ - 2 

 

Question nos. 51 to 53 : Read the given passage and 

answer the questions that follow it. 

 There is no general agreement about how the planets 

were formed. The most widely accepted theory is that about 

5000 million years ago swirling clouds of matter began to 

condense. Through the action of centrifugal force, the 

heavier molecules were concentrated near the centre of the 

eddies and the lighter, gaseous material was thrown out 

towards the periphery. What is known is that nine satellites 

began orbiting round the sun. The planet on which man 

lives is the third closest to the sun, with the third shortest 

orbit. It also has been something none of the others has - an 

atmosphere that can support life in all the manifold forms 

exist on our planet. There may be satellites circling other 

stars in other parts of the universe that have the right 

ingredients for some sort of life to evolve, but the earth is 

the only one in the solar system. 

51 : The theory of the formation of the planets .... 

 1) is generally not agreed upon by everyone. 

 2) is a debatable one. 

 3) covers a very wide area. 

 4) it is fairly well-known. 
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52 : According to the passage, the planets are ..... 

 1) a collection of gaseous material. 

 2) a collection of condensed swirling material. 

 3) nothing but condensed clouds. 

 4) a collection of centrifugal forces. 

53 : One essential difference between the earth and the 

other planets is that  

 1) The atmosphere of the earth makes possible the 

presence of life on it. 

 2) The earth draws the heavier molecules into its 

centre through the action of centrifugal force. 

 3) Only the earth is on the periphery of the solar 

system. 

 4) The earth has the capacity to come into closer 

contact with the sun. 

àíZ H«$.  51 Vo 53 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
 J«h H$go V¶ma Pmbo ¶m~Ôb gm‘mÝ¶ EH$‘V Zmhr. gdm©V 
ì¶mnH$nUo ñdrH$mabobm {gÕm§V Agm Amho H$s gw‘mao 5000 Xebj 
dfmªnydu MH«$mH$ma {’$aUmè¶m dñVw‘mZmÀ¶m T>Jm§Zr JmoR>m¶bm gwadmV 
Ho$br. H|$ÐmoËgmar e³VrÀ¶m {H«$¶oÛmao OS> aoUy AmdVm©À¶m ‘Ü¶mH$S>o 
H|${ÐV Ho$bo Jobo Am{U hbHo$, dm¶yê$n Ðì¶ narKmÀ¶m {XeoZo ’o$H$bo Jobo 
ho hr ‘m{hV Amho H$s ZD$ J«hm§Zr gy¶m©^modVr {’$aÊ¶mg gwadmV Ho$br. 
‘Zwî¶ Á¶m J«hmda amhVmo Vmo gy¶m©nmgyZ {Vgam gdm©V OdiMm J«h 
Amho, Á¶mMr H$jm {Vgar bhmZ H$jm Amho. BVam§n¡H$s H$moUmbmhr 
Zgbobo Ago H$mhrVar Ë¶mda Amho. dmVmdaU Oo Amnë¶m J«hmda 
AgUmè¶m AZoH${dY àH$maÀ¶m AmH$mamV AgUmè¶m gOrdm§Zm AmYma 
XoVo. {dídmÀ¶m BVa ^mJmV Vmè¶m§^modVr {’$aUmao CnJ«h Agy eH$VmV 
Á¶mV OrdZmÀ¶m H$mhr àH$maÀ¶m CËH«$m§VrgmR>r ¶mo½¶ KQ>H$ AgVrb 
nU gm¡a ¶§ÌUoV n¥Ïdr hr EH$‘od Amho.  
51 : J«hm§À¶m {Z{‘©VrMm {gÕm§V .......... 

1) gd©gm‘mÝ¶nUo gdmªZr gh‘Vr Xe©{dbobr Zmhr. 
2) dmXJ«ñV Amho. 
3) ¶mV Iyn {dñV¥V joÌmMm g‘mdoe hmoVmo. 
4) ~è¶mn¡H$s à{gÕ Amho. 

52 : CVmè¶mZwgma J«h ho ............. AmhoV. 
1) dm¶wê$n Ðì¶mMm g§J«h 
2) MH«$mH$ma {’$aUmè¶m JmoR>boë¶m Ðì¶mMm g§J«h 
3) JmoR>boë¶m T>Jm§{edm¶ H$mhr Zmhr 
4) H|$ÐmoËgmar e³VtMm g§J«h 

53 : n¥Ïdr Am{U BVa J«hm§‘Yrb EH$ Amdí¶H$ ’$aH$ åhUOo ........... 
1) n¥ÏdrMo dmVmdaU Á¶m‘wio Ë¶mda gOrdm§Mr CnpñWVr Amho. 
2) H|$ÐmoËgmar e³VrÛmao n¥Ïdr {VÀ¶m ‘Ü¶^mJr OS> aoUy AmoT>Vo. 
3) n¥Ïdr hr  gm¡a ¶§ÌUoÀ¶m n[aKmda Amho. 
4) n¥ÏdrH$S>o gy¶m©er g§nH©$ gmYÊ¶mMr j‘Vm Amho. 

Question nos. 54 to 56 : Read the given passage and 

answer the questions that follow it. 

 Children are influenced by the attitude of their parents – 

either positively or negatively. Parenting style is vital 

because numerous reports signify that it forecasts how 

children perform in the field of psychosocial development, 

business development, academic per-formance, social 

competence and problem behavior. There are deep and 

significant effects of bad parenting on children that include 

antisocial behavior, poor resilience, depression and 

aggression. Another study by the United Kingdom’s 

Department of Education indicates the effects of bad 

parenting on the children to include behavioral problems, 

poor coping skills, academic challenges and mental health 

outcomes. Frequent poor parenting decision can have a 

harmful outcome through childhood and beyond. 

Understanding and recognizing bad parental decisions can 

help parents make the best decisions for their child. 

54 : What influences children the most? 

 1) positive attitude of the parents. 

 2) negative attitude of the parents. 

 3) both positive and negative attitude of the parents. 

 4) none of the above 

55 : Parenting style is crucial because .... 

 1) it has deep and significant effects on children. 

 2) kids are anti social, aggressive and depressed. 

 3) children copy their parents’ style. 

 4) it predicts the children’s performance in different 

fields. 

56 : Which of the following is not true according to the 

passage? 

 1) Numerous reports talk about the positive 

influence of parenting style. 

 2) The united kingdom’s department of education 

indicates the effects of bad parenting on the 

children. 

 3) Poor parenting decisions can have adverse 

effects. 

 4) Psychosocial development, business development, 

academic performance, social competence depend 

on the parent style. 

àíZ H«$.  54 Vo 56 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
 ‘wbm§da Ë¶m§À¶m nmbH$m§À¶m {dMmagaUrMm n[aUm‘ hmoVmo 
gH$mamË‘H$ qH$dm ZH$mamË‘H$ ¶mV nmbZnmofU H$aÊ¶mMr e¡br 
‘hÎdnyU© Amho H$maU Ag§»¶ Ahdmb Ago Xe©{dVmV H$s Ë¶mVyZ 
‘Zmogm‘m{OH$ {dH$mg, ì¶dgm¶ {dH$mg, e¡j{UH$ H$m¶©j‘Vm, 
gm‘m{OH$ j‘Vm Am{U dV©Z g‘ñ¶m ¶m joÌmV ‘wbo H$er H$m‘{Jar 
H$aVrb ¶mMm A§XmO bmdVm ¶oVmo. dmB©Q> nmbZnmofU nÕVr‘wio 
‘wbm§À¶mV g‘mO {dKmVH$ dV©Z, Aën bd{MH$Vm, Z¡amí¶, AmH«$‘H$Vm 
Ago Imob Am{U J§^ra n[aUm‘ hmoVmV. B§½b§S>À¶m {ejU {d^mJmZo 
Ho$boë¶m AmUIr EH$m Aä¶mgmV dmB©Q> nmbZnmofU nÕVr‘wio dV©Z 
g‘ñ¶m, gm‘mdyZ KoÊ¶mMo H$‘r H$m¡eë¶, e¡j{UH$ AmìhmZo Am{U 
‘mZ{gH$ Amamo½¶mda hmoUmao Xþîn[aUm‘ {XgyZ Ambo AmhoV. dma§dma 
nmbH$ËdmMo MwH$sMo {ZU©¶ ~mbnUmda Am{U Ë¶mZ§Vahr hmZrH$maH$ 
n[aUm‘ KS>dy eH$VmV. dmB©Q> nmbH$ËdmMo {ZU©¶ g‘OyZ KoUo Am{U 
AmoiIUo nmbH$m§Zm Ë¶m§À¶m ‘wbm§gmR>r gdm}Îm‘ {ZU©¶ KoÊ¶mg ‘XV H$ê$ 
eH$VmV. 
54 : ‘wbm§da gdm©V OmñV n[aUm‘ H$emMm hmoVmo? 

1) nmbH$m§Mm gH$mamË‘H$ Ñ{ï>H$moZ 
2) nmbH$m§Mr ZH$mamË‘H$ d¥Îmr 
3) nmbH$m§Mr gH$mamË‘H$ Am{U ZH$mamË‘H$ Aem XmoÝhr d¥Îmr 
4) darbn¡H$s H$moUVoM Zmhr. 

55 : nmbH$ËdmMr e¡br ‘hÎdnyU© Amho H$maU....... 
1) Ë¶mMm ‘wbm§da Imob Am{U ‘hÎdnyU© n[aUm‘ hmoVmo. 
2) ‘wbo g‘mO{dKmVH$, AmH«$‘H$ Am{U CXmg hmoVmV. 
3) ‘wbo Ë¶m§À¶m nmbH$m§À¶m e¡brMr Z³H$b H$aVmV. 
4) ‘wbm§À¶m doJdoJù¶m joÌmVrb H$m‘{JarMm A§XmO H$aVm ¶oVmo. 
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56 : CVmè¶mZwgma Imbrbn¡H$s H$moUVo gË¶ Zmhr? 
1) Ag§»¶ Ahdmb nmbH$ËdmÀ¶m e¡brÀ¶m gH$mamË‘H$ 

à^mdm~X²Xb ~mobVmV. 
2) B§½b§S>Mm {ejU {d^mJ ‘wbm§da hmoUmè¶m dmB©Q> nmbH$ËdmMm 

n[aUm‘ gy{MV H$aVmo. 
3) {ZH¥$ï> nmbH$ËdmMm {ZU©¶m§Mm {dnarV n[aUm‘ hmoD$ eH$Vmo. 
4) ‘Zmogm‘m{OH$ {dH$mg, ì¶dgm¶ {dH$mg, e¡j{UH$ H$m‘{Jar, 

gm‘m{OH$ j‘Vm ho nmbH$ËdmÀ¶m nÕVrda Adb§~yZ 
AgVmV. 

Question nos. 57 to 59 : Read the given passage and 

answer the questions that follow it. 

 Massive Open Online Courses (MOOCs) are free online 

courses available for anyone to enroll. MOOCs provide an 

affordable and flexible way to learn new  skills, advance 

your career and deliver quality educational experiences at 

scale. 

 Millions of people around the world use MOOCs to 

learn for a variety of reasons, including: career 

development, changing careers, college preparations, 

supplemental learning. lifelong learning, corporate 

eLearning and training and more. MOOCs have 

dramatically changed the way the world learns. MOOC 

creates the opportunity for sharing ideas and knowledge 

and also helps improving lifelong learning skills by 

providing easy access to global resources. It improves cross 

cultural relationships which leads to collaboration between 

institution educators and learners locally and 

internationally. 

57 : Find out the correct alternative. 

 1) You can join MOOCs paying a right amount of 

money. 

 2) MOOCs are free online courses available for 

anyone to enroll 

 3) MOOCs improve cross social and religious 

relationships. 

 4) Millions of people around the world use MOOCs 

to learn computer skills. 

58 : MOOCs have dramatically changed the world because  

 1) they provide easy access to global resources. 

 2) these courses cost so little. 

 3) they bring so much entertainment in our life. 

 4) they are for only a specific time span. 

59 : The word ‘flexible’ in context with the passage means  

 1) able to bend easily without breaking. 

 2) something that is adjustable. 

 3) able to change to suit new conditions or situations 

 4) something which is Spring like. 

àíZ H«$. 57 Vo 59 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
àM§S> Iwbo Am°ZbmBZ {ejUH«$‘ H$moUmbmhr Zm|XUrgmR>r ‘mo’$V CnbãY 
AmhoV. ho {ejUH«$‘ ZdrZ H$m¡eë¶o {eH$Ê¶mgmR>r, Amnbr H$maH$sX© 
C§MmdÊ¶mgmR>r Am{U JwUdÎmmnyU© e¡j{UH$ AZw^d à‘mUmV àXmZ 
H$aÊ¶mMm EH$ nadS>Ê¶m¶mo½¶ Am{U bd{MH$ ‘mJm©Mr VOdrO H$aVmV. 
OJmVrb bmImo bmoH$ ì¶dgm¶ {dH$mg, noem ~XbUo, ‘hm{dÚmb¶rZ 
V¶mar, nyaH$ {ejU, AmOrdZ {ejU, gm§{KH$ B©-{ejU Am{U 
à{ejU BË¶mXr ~è¶mM {d{dY H$maUmñVd ¶m Am°ZbmBZ {ejUH«$‘mMm 
dmna H$aVmV. Am°ZbmBZ {ejUnÕVt‘wio OJmMr {eH$Ê¶mMr nÕV 

ZmQ>ç‘¶[aË¶m ~Xbbr Amho. Am°ZbmB©Z {ejU nÕVr H$ënZm Am{U 
kmZmMo AmXmZàXmZ H$aÊ¶mMr g§Yr {Z‘m©U H$aVo {edm¶ OmJ{VH$ 
g§gmYZo ghO CnbãY H$ê$Z AmOrdZ {ejU H$m¡eë¶o gwYmaÊ¶mg 
‘XV H$aVo. Vr nañna gm§ñH¥${VH$ g§~§Y gwYmaVo Á¶m‘wio g§ñWm, 
{ejH$ Am{U {dÚmWu ¶m§À¶m‘Ü¶o ñWm{ZH$ Am{U Am§Vaamḯ>r¶ 
nmVirdarb ghH$m¶m©g H$maUr^yV R>aVo. 
57 : ¶mo½¶ n¶m©¶ emoYm. 

1) Vwåhr ¶mo½¶ à‘mUmV n¡go XoD$Z Am°ZbmBZ {ejUH«$‘mV 
gm‘rb hmoD$ eH$Vm. 

2) Iwbo Am°ZbmB©Z {ejUH«$‘ H$moUmbmhr {dZm‘yë¶ Zm|XUrgmR>r 
CnbãY AmhoV. 

3) Am°ZbmB©Z {ejUH«$‘ gm‘m{OH$ Am{U Ym{‘©H$ g§~§Y 
gwYmaVmV. 

4) OJmVrb bmImo bmoH$ g§JUH$ H$m¡eë¶o {eH$Ê¶mgmR>r 
Am°ZbmB©Z {ejUnÕVr dmnaVmV. 

58 : Am°ZbmBZ {ejUnÕVrZo ZmQ>ç‘¶ [aVrZo OJ ~Xbbo Amho H$maU 
........... 

1) Ë¶mZo OmJ{VH$ g§gmYZo ghO CnbãY H$ê$Z {Xbr AmhoV. 
2) ¶m Aä¶mgH«$‘mMr qH$‘V Iyn H$‘r Amho. 
3) Ë¶mZo Amnë¶m Am¶wî¶mV Iyn ‘Zmoa§OZ AmUbo Amho. 
4) Vo ’$³V H$mhr {d{eï> H$mbmdYrgmR>r AgVmV. 

59 : ¶m CVmè¶mZwgma ‘bd{MH$’ ¶m eãXmMm AW© ........... Amho. 
1) Z ‘moS>Vm ghO dmH$Umam 
2) n[apñWVrer OwidyZ KoUmam 
3) ZdrZ n[apñWVr qH$dm H$mbmZwê$n ~XbUmam 
4) pñà¨JgmaIm 

Question nos. 60 to 62 : Read the given passage and 

answer the questions that follow it. 

 The Nobel Prize is a set of annual international awards 

bestowed in several categories by Swedish and Norwegian 

institutions in recognition of academic, cultural or scientific 

advances. The will of the Swedish chemist, engineer and 

industrialist Alfred Nobel established the five Nobel prizes 

in 1895. The prizes in Chemistry, Literature, Peace, Physics 

and Physiology or Medicine were first awarded in 1901. 

The prizes are widely regarded as the most prestigious 

awards available in their respective fields. The prize is not 

awarded posthumously; however, if a person is awarded a 

prize and dies before receiving it, the prize may still be 

presented. A prize may not be shared among more than 

three individuals, although the Nobel Peace Prize can be 

awarded to organizations of more than three people. Except 

for the Peace Prize, the Nobel Prizes are presented in 

Stockholm, Sweden, at the annual Prize Award Ceremony 

on 10 December, the anniversary of Nobel’s death. 

60 : The meaning of the word posthumously is ..... 

 1) through a representative. 

 2) if not a citizen of Sweden or Norway. 

 3) if the person is not present in person. 

 4) after the person’s death. 

61 : Choose the correct alternative : Alfred Nobel was 

 1) a peacemaker. 

 2) physiologists. 

 3) chemist, engineer and industrialist. 

 4) head of the Nobel Prize committee. 
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62 : The Nobel Prize is a set of international awards given 

every ..... 

 1) month  2) year 

 3) two years  4) after every 20 years 

àíZ H«$. 60 Vo 62 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m 
Imbr {Xboë¶m àíZm§Mr CÎmao Úm. 
 Zmo~ob nwañH$ma åhUOo dm{f©H$ Am§Vaamï´>r¶ nwañH$mam§Mm Agm g§M 
Amho H$s Omo e¡j{UH$, gm§ñH¥${VH$ qH$dm d¡km{ZH$ àJVrÀ¶m ‘mÝ¶VogmR>r 
ñdr{S>e Am{U Zm°d}{O¶Z g§ñWo‘m’©$V {Za{Zamù¶m àdJm©V àXmZ 
H$aÊ¶mV ¶oVmo. ñdr{S>e agm¶ZemÌk, A{^¶§Vm Am{U CÚmoJnVr 
Aë’«o$S> Zmo~ob ¶m§À¶m ‘¥Ë¶ynÌmZwgma 1895 ‘Ü¶o nmM Zmo~ob 
nm[aVmo{fH$m§Mr ñWmnZm Ho$br. agm¶Zemó, gm{hË¶, em§Vr, 
^m¡{VH$emó Am{U eara {dkmZ qH$dm Am¡fY ¶mVrb nwañH$ma gd©àW‘ 
1901 ‘Ü¶o àXmZ H$aÊ¶mV Ambo. hr nm[aVmo{fHo$ Ë¶m§À¶m g§~§{YV 
joÌmV CnbãY AgUmè¶m gdm©V à{V{ð>V nwañH$ma ‘mZbr OmVmV. ho 
‘aUmoÎma {Xbo OmV Zmhr. na§Vw Oa EImÚm ì¶p³Vg nwañH$ma Omhra 
Pmbm na§Vw Vo {‘iÊ¶mnydu Ë¶mMm ‘¥Ë¶y Pmbm Va nwañH$ma gmXa Ho$bm 
OmD$ eH$Vmo. hm nwañH$ma VrZ nojm OmñV ì¶p³V¨‘Ü¶o {d^mJbm OmD$ 
eH$V Zmhr, Oar Zmo~ob em§VVm nwañH$ma VrZnojm OmñV bmoH$m§À¶m 
g§ñWm§Zm {Xbm OmD$ eH$Vmo. em§Vr nwañH$ma dJiVm ñdrS>Z‘Yrb 
ñQ>m°H$hmo‘ ¶oWo Zmo~ob nm[aVmo{fHo$ Zmo~obÀ¶m ‘¥Ë¶wÀ¶m ñ‘¥{V{XZr 10 
{S>g|~a amoOr dm{f©H$ nwañH$ma {dVaU gmohù¶mV {Xbr OmVmV. 

60 : ‘nmoñWw‘gbr’ ¶m B§J«Or eãXmMm AW© ........... Amho. 
1) à{V{ZYrÛmao 
2) Oa ñdrS>Z qH$dm Zm°d}Mm ZmJ[aH$ Zgob Va 
3) Oa Vr ì¶p³V ñdV: CnpñWV Zgob Va 
4) ì¶p³VÀ¶m ‘¥Ë¶yZ§Va 

61 : ¶mo½¶ n¶m©¶ {ZdS>m. 
 Aë’«o$S> Zmo~ob ........... hmoVo.  

1) em§VVm àñWm{nV H$aUmao  
2) eara{H«$¶m {dkmZ emók 
3) agm¶Zemók, A{^¶§Vm Am{U CÚmoJnVr 
4) Zmo~ob nm[aVmo{fH$ g{‘VrMo à‘wI 

62 : Zmo~ob nm[aVmo{fH$ hm Am§Vaamï´>r¶ nwañH$ma ........... {Xbm OmVmo. 
1) Xa ‘hm  2) Xadfu 
3) Xa XmoZ dfmªZr   4) Xa drg dfmªZ§Va 

Question no. 63 : In a certain code language GEM = 15, 

HIM = 14, BIG = 14 then RUN = ? 

àíZ H«$. 63 : EH$m gm§Ho${VH$ ^mfoV GEM = 15, HIM = 14,       

BIG = 14 Va RUN = ? 

 1) 29 2) 24 3) 25 4) 23 

Question no. 64 : How many triangles are there in the 

following figure? 

àíZ H«$. 64 : Imbrb AmH¥$VrV {H$Vr {ÌH$moU AmhoV? 

 

 

 

 
 

 1) 12 2) 6 3) 10 4) 11 

Question no. 65 : Read the following information carefully 

and answer the question. 

A machine arranges words and numbers in a given input 

line by following a particular rule, Decide the rule from the 

following illustration of input line and rearrangement. 

àíZ H«$. 65 : Imbrb ‘m{hVr H$miOrnyd©H$ dmMm Am[U àíZm§Mo CÎma 
Úm. 
EH$ ¶§Ì {Xboë¶m dm³¶mVrb eãX Am{U g§»¶m ¶m§Mr {d{eï> 
{Z¶‘mZwgma ‘m§S>Ur H$aVo. Imbrb CXmhaUmdê$Z {Xbobo dm³¶ Am{U 
nwZa©MZm ¶m{df¶rMm Vmo {Z¶‘ R>adm. 

Input line ({Xbobo dm³¶) goal 63 57 have five task 82 17 

Step I (nm¶ar I) 82 goal 63 57 have five task 17 

Step II (nm¶ar II) 82 five goal 63 57 have task 17 

Step III (nm¶ar III) 82 five 63 goal 57 have task 17 

Step IV (nm¶ar IV) 82 five 63 goal 57 have 17 task 

Step IV is the last output. / nm¶ar IV hr eodQ>Mr {ZînÎmr Amho. 

If the input line is 19 victory 22 34 age bear high 24 then 

what will be step V?  

Oa {Xbobo dm³¶ 19 victory 22 34 age bear high 24 Agob Va 
nm¶ar V H$m¶ Agob? 

 1) There is no step V /  nm¶ar V AgUma Zmhr. 
 2) 34 victory 24 high 22 bear 19 age 

 3) 34 victory 24 high 19 22 age bear 

 4) 34 victory 24 high 22 19 age bear 

Question nos. 66 and 67 : Amol, Medha, Radha, Laxman 

and Dilip are five cousins. Amol is twice as old as Medha 

where as Radha is half the age of Medha. Dilip is two years 

elder than four times age of Radha, who is twice the age of 

Laxman. Then, 

àíZ H«$. 66 Am{U 67 : A‘mob, ‘oYm, amYm, bú‘U Am{U {X{bn hr 
nmM ^md§S> AmhoV. A‘mob ‘oYmnojm XþßnQ> d¶mMm Amho Va amYm ‘oYmÀ¶m 
{Zåå¶m d¶mMr Amho. {X{bn hm amYmÀ¶m d¶mÀ¶m Mm¡nQ>rnojm XmoZ dfmªZr 
‘moR>m Amho. amYm, hr bú‘UÀ¶m d¶mnojm XþßnQ> d¶mMr Amho. Va, 
66 : Who is the eldest? 

 1) Amol 2) Dilip 3) Medha 4) Laxman 

66 : gdm©V d¶ñH$a H$moU Amho? 
 1) A‘mob 2) {X{bn 3) ‘oYm 4) bú‘U 
67 : How many are younger than Amol? 

67 : A‘mobnojm {H$VrOU VéU AmhoV? 

 1) 1 2) 4 3) 2 4) 3 

Question nos. 68 and 69 : If M  N means M is daughter 

of N; M + N means M is father of N; M  N means M is 

mother of N and M – N means M is brother of N, then  

àíZ H«$. 68 Am{U 69 : Oa M  N åhUOo M hr N Mr ‘wbJr Amho;    

M + N åhUOo M ho N Mo dS>rb AmhoV; M  N åhUOo M hr N Mr 
AmB© Amho Am{U M – N åhUOo M hm N Mm ^mD$ Amho, Va 
68 : How is A related to F in the expression  

A  B + C – E  F? 

 1) Mother in law 2) Daughter in law 

 3) Aunt   4) Sister in law 

68 : A  B + C – E  F ¶m C³Vr‘Ü¶o A Mo F er ZmVo H$m¶? 

 1) gmgy 2) gyZ 3) AmË¶m 4) ‘oìhUr 
69 : If P  R + S – Q then which of the following 

statements is true? 

 1) Q is grandson of P 2) P is mother of Q 

 3) P is grandmother of Q 4) Q is sister of S 

69 : Oa P  R + S – Q Va Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho? 

 1) Q hm P Mm ZmVy Amho. 2) P hr Q Mr AmB© Amho. 
 3) P hr Q Mr AmOr Amho. 4) Q hr S Mr ~{hU Amho. 
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Question no. 70 : Find the odd pair of numbers from the 

following. 

àíZ H«$. 70 : Imbrbn¡H$s g§»¶m§Mr {dg§JV OmoS>r AmoiIm. 
 1) 27 – 23 2) 54 – 31 3) 61 – 12 4) 35 – 19 

Question no. 71 : Identify the odd number. 

àíZ H«$. 71 : {dg§JV g§»¶m AmoiIm. 
 1) 325 2) 339 3) 428 4) 122 
Question no. 72 : Three dice having six faces each, with 

each face having one number from 1 to 6 are rolled. What is 

the number of possible out comes such that at least one dice 

shows the number 3? 

àíZ H«$. 72 : àË¶oH$ n¥ð>^mJmda 1 Vo 6 n¡H$s EH$ A§H$ Agbobo, ghm 
n¥ð>^mJ AgUmao, VrZ ’$mgo Q>mH$bo. {H$‘mZ EH$m ’$memda 3 A§H$ 
Xe©{dUmè¶m g§̂ mì¶ {ZH$mbm§Mr g§»¶m {H$Vr Agob? 
 1) 36 2) 91 3) 118 4) 86 

Question nos. 73 and 74 : B, C, D, F, G, H, J, K, L are 

nine huts. D is 4 km east of C, B is 2 km north of C and K 

is 4 km south of B. J is 2 km west of K while F is 6 km east 

of J and H is 4 km north of J. L is situated just in the middle 

of C and D while G is just in the middle of K and F. 

àíZ H«$. 73 Am{U 74 : B, C, D, F, G, H, J, K, L ¶m 9 PmonS>çm 
AmhoV. D hr C À¶m nyd}bm 4 {H$.‘r. da Amho, B hr C À¶m CÎmaobm      
2 {H$.‘r. Amho Va K hr B À¶m X{jUobm 4 {H$.‘r. da Amho. J hr K 

À¶m npíM‘obm 2 {H$.‘r. Xÿa Amho. Va F hr J À¶m nyd}bm 6 {H$.‘r. da 
Amho Am{U H hr J À¶m CÎmaobm 4 {H$.‘r. Amho. L hr C Am{U D À¶m 
‘Ü¶^mJr Amho Va G hr K Am{U F ¶m§À¶m ‘Ymo‘Y Amho. 
73 : What is the distance between C hut and K hut? 

73 : C PmonS>r Am{U K PmonS>r ¶m‘Ü¶o {H$Vr A§Va Amho? 

 1) 1.5 km 2) 4 km 3) 3 km 4) 2 km 

74 : In which direction hut F is situated with respect to hut 

H? 

 1) South west 2) South  

 3) South east  4) North west 

74 : H ¶m PmonS>rnmgyZ F hr PmonS>r H$moUË¶m {Xeobm Amho? 

 1) Z¡F$Ë¶ 2) X{jU 3) A¾o¶ 4) dm¶ì¶ 
Question no. 75 : Four metal rods of lengths 65 cm,        

117 cm, 182 cm and 195 cm are to be cut in such a way that 

each part has equal length and should be as long as 

possible. How many such rods would be obtained? 

àíZ H«$. 75 : 65 cm, 117 cm, 182 cm Am{U 195 cm bm§~rÀ¶m 
Mma YmVy§À¶m gi¶m Aem [aVrZo H$mnmd¶mÀ¶m AmhoV H$s àË¶oH$ VwH$S>m 
g‘mZ bm§~rMm Am{U OmñVrV OmñV bm§~rMm Agob. Aem EHy$U {H$Vr 
gi¶m {‘iVrb? 
 1) 35 2) 43 3) 41 4) 49 

Question nos. 76 and 77 : In each of the following 

question three statements are given which are followed by 

four conclusions. You have to consider the three statements 

to be true even though they seem to be at variance with 

commonly known facts. Read all the conclusions and then 

decide which of the given conclusions logically follow. 

76 : Statements : 

A) All registers are books. 

B) All books are written materials. 

C) All written materials are novels. 

Conclusions : 

P) All books are novels. 

Q) All written materials are registers. 

R) All registers are novels. 

S) All novels are books. 

 1) None of these follow. 2) Only P and Q follow. 

 3) All follow.  4) Only P and R follow. 

77 : Statements : 

P) Some cats are animals. 

Q) Some animals are mammals. 

R) Some  mammals are reptiles. 

Conclusions : 

A) Some reptiles are cats. 

B) Some mammals are cats. 

C) Some reptiles are animals. 

D) Some cats are reptiles.  

 1) None of these follow. 2) Only A and B follow. 

 3) All follow.  4) Only B and D follow. 

àíZ H«$. 76 Am{U 77 : Imbrb àË¶oH$ àíZmV VrZ {dYmZo {Xbr 
AmhoV d Ë¶mZ§Va Mma {ZîH$f© {Xbo AmhoV. Oar {Xbobr {dYmZo 
gd©gmYmaUnUo kmV VÏ¶mhÿZ doJir dmQ>V Agbr Var Vr Iar AmhoV 
Ago g‘Om. gd© {ZîH$f© dmMm Am{U Ë¶mVrb H$moUVo VH©$g§JV AmhoV Vo 
R>adm. 
76 : {dYmZo : 
A) gd© Zm|Xdøm nwñVHo$ AmhoV. 
B) gd© nwñVHo$ {b{IV gm‘mZ Amho. 
C) gd© {b{IV gm‘mZ H$mX§~è¶m AmhoV. 
{ZîH$f© : 
P) gd© nwñVHo$ H$mX§~è¶m AmhoV. 
Q) gd© {b{IV gm‘mZ Zm|Xdøm AmhoV. 
R) gd© Zm|Xdøm H$mX§~è¶m AmhoV. 
S) gd© H$mX§~è¶m nwñVHo$ AmhoV. 
 1) H$moUVoM VH©$g§JV Zmhr. 
 2) ’$³V P Am{U Q VH©$g§JV Amho. 
 3) gd© VH©$g§JV AmhoV. 
 4) ’$³V P Am{U R VH©$g§JV AmhoV. 
77 : {dYmZo : 
P) H$mhr ‘m§Oao àmUr AmhoV. 
Q) H$mhr àmUr gñVZ AmhoV. 
R) H$mhr gñVZ garg¥n AmhoV. 
{ZîH$f© : 
A) H$mhr garg¥n ‘m§Oao AmhoV. 
B) H$mhr gñVZ ‘m§Oao AmhoV. 
C) H$mhr garg¥n àmUr AmhoV. 
D) H$mhr ‘m§Oao garg¥n AmhoV. 
 1) ¶mn¡H$s H$moUVoM VH©$g§JV Zmhr. 
 2) ’$³V A Am{U B VH©$g§JV Amho. 
 3) gd©M VH©$g§JV AmhoV. 
 4) ’$³V B Am{U D VH©$g§JV Amho. 

Question no. 78 : Which of the following interchanges 

would make the given expression correct? 

àíZ H«$. 78 : Imbrbn¡H$s H$moUVo ~Xb EH$‘oH$mV Ho$ë¶mg {Xbobo 
{dYmZ gË¶ R>adVrb? 

4 + 4  4 – 4  4 = 4 

 1) + and / Am{U x 2) – and / Am{U   

 3) + and / Am{U = 4) + and / Am{U – 

Question no. 79 : Mohan and Sohan alone can do a piece 

of work in 10 days and 15 days respectively. They work 

together for three days and then Sohan left the job. Mohan 

finishes the work alone. In how many days is the total work 

finished? 

 1) 13 2) 12 3) 6 4) 8 
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àíZ H«$. 79 : ‘mohZ Am{U gmohZ EH$Q>çmZo EH$ H$m‘ AZwH«$‘o 10 

{XdgmV Am{U 15 {XdgmV nyU© H$ê$ eH$VmV. Ë¶m XmoKm§Zr VrZ {Xdg 
EH${ÌV H$m‘ Ho$bo d Ë¶mZ§Va gmohZZo Vo H$m‘ gmoS>bo. ‘mohZZo EH$Q>çmZo 
Cabobo H$m‘ nyU© Ho$bo Va EHy$U {H$Vr {XdgmV Vo H$m‘ nyU© Pmbo 
Agob? 

 1) 13 2) 12 3) 6 4) 8 

Question no. 80 : A milk man borrowed Rs. 2500/- from 

two money lenders. For one loan he paid 5% p.a. and for 

the other he paid 7% p.a. The total interest paid for two 

years was Rs. 265/- How much did he borrow at 5% and 

7% respectively? 

àíZ H«$. 80 : EH$m Jdù¶mZo XmoZ gmdH$mam§H$Sy>Z é. 2500/- CgZo 
KoVbo. EH$m H$Om©da Ë¶mZo 5% à. d. ì¶mO {Xbo d Xþgè¶m H$Om©da 
7% à. d. ì¶mO {Xbo. XmoZ dfm©V Ë¶mZo EHy$U é. 265/- ì¶mO {Xbo. 
Ë¶mZo AZwH«$‘o 5% d 7% XamZo {H$Vr H$O© KoVbo hmoVo? 

 1) 1875, 625  2) 625, 1875 

 3) 1800, 700  4) 1900, 600 

Question no. 81 : In a parallelogram, the lengths of 

adjacent sides are 11 and 13 cm respectively. If the length 

of one diagonal is 16 cm, How many cm will be the length 

of other diagonal? 

àíZ H«$. 81 : EH$m g‘m§Va^wO Mm¡H$moZmV bJVÀ¶m ~mOy AZwH«$‘o 11 

Am{U 13 g|‘r AmhoV. Oa EH$m H$Um©Mr bm§~r 16 g|‘r Agob, Va 
Xþgè¶m H$Um©Mr bm§~r {H$Vr g|‘r Agob? 

 1) 20 2) 16 3) 18 4) 14 

Question no. 82 : If 50
18

  48
20

 were to be written as an 

integer, then how many consecutive zeros would it have at 

the end? 

àíZ H«$. 82 : Oa 50
18

  48
20

 nyUmªH$ åhUyZ {b{hbo Jobo Va eodQ>r 
{H$Vr gbJ eyÝ¶ AgVrb? 

 1) 20 2) 36 3) 40 4) 98 

Question no. 83 : If y
2
 = 16 and x

2
y = 36, then which of the 

following are the possible values of x + y? 

àíZ H«$. 83 : Oa y
2
 = 16 Am{U x

2
y = 36 Agob Va x + y Mr 

g§^m{dV qH$‘V Imbrbn¡H$s H$moUVr Agy eHo$b? 

 P) – 7 Q) – 1 R) + 7 S) 0 T) + 1 

 1) R, T 2) P, Q, T 3) R, S, T 4) P, R, T 

Question no. 84 : What is the digit at units place of             

7
94

 – 2
38

? 

àíZ H«$. 84 : 794
 – 2

38
  À¶m EH$H$ ñWmZr H$moUVm A§H$ Agob? 

 1) 3 2) 4 3) 5 4) 1 
 

Question nos. 85 to 90 : Given below are six questions 

describing a situation and is followed by four possible 

responses. Indicate the response you find the most 

appropriate. Choose only one response for each question. 

The responses will be evaluated based on the level of 

appropriateness for the given situation. 

 Please attempt all the questions. There is no penalty for 

wrong answers for these six questions. 

àíZ H«$. 85 Vo 90 : Imbr ghm àíZ {Xbo AmhoV Á`mV àË`oH$s EH$ 
KQ>Zm {Xbr Amho Am{U Ë`mZ§Va Mma à{V[H«$`m {Xë`m AmhoV. Vw_À`m 
Ñï>rZo Ë`mVrb gdm©V `mo½` à{V{H«$`m Zm|Xdm. àË`oH$ àíZmH$arVm EH$M 
n`m©` {ZdS>m. CÎmam§Mo _yë`m§H$Z, {Xboë`m KQ>ZoÀ¶m g§X^m©V 
Cn`mo{JVoÀ`m ñVamda Ho$bo OmB©b. 
H¥$n`m gd© àíZm§Mr CÎmao Úm. `m ghm àíZm§À`m MwH$sÀ`m CÎmamgmR>r 
H$moUVmhr X§S> Ho$bm OmUma Zmhr.  

85 : You are a Government officer. You received an urgent 

message from your superior. But you feel that the message 

is wrong. You will ........ 

 1)  show the message to your best friend in the 

department and then after seeing his recation will 

decide to follow it or not. 

 2) request the Superior for clarification. 

 3) obey it. 

 4) not do anything and wait for the proper written 

message.    
85 : Vwåhr gaH$mar A{YH$mar AmhmV. Vw‘À¶m d[að>m§H$Sy>Z Vwåhmbm 
VmVS>rMm g§Xoe ¶oVmo na§Vw Vmo g§Xoe MwH$sMm Amho Ago Vwåhmbm dmQ>Vo. 
Vwåhr H$m¶ H$amb ?   

 1)  Vmo g§Xoe Vw‘À¶m ImË¶mVrb OdiÀ¶m {‘Ìmbm XmIdmb 
Ë¶mÀ¶m à{V{H«$¶oZ§Va g§XoemMr A§‘b~OmdUr H$am¶Mr H$s 
Zmhr ho R>admb.  

 2) g§XoemMo ñnï>rH$aU d[að>m§H$S>o {dZ§Vrnyd©H$ ‘mJdmb. 

 3) AmkoMo nmbZ H$amb. 

 4) H$mhrhr Z H$aVm boIr g§Xoe ¶oÊ¶mMr dmQ> ~KV ahmb. 

86 : You are working as an Army officer. You get a 

confidential message that one of your soldier is involved in 

terrorist activities. What will you do? 

 1)  Secretely enquire about the matter before taking 

a strong action. 

 2) Inform to higher authority. 

 3) Secretely search the next agenda of terrorists. 

 4) Immediately suspend him.   
86 : Vwåhr g¡{ZH$s A{YH$mar ¶m nXmda H$m¶©aV AmhmV. Vwåhmbm JwßV 
g§Xoe {‘iVmo H$s Vw‘Mm EH$ g¡{ZH$ AmV§H$dmXr H$madm¶m§‘Ü¶o gh^mJr 
Amho. Vwåhr H$m¶ H$amb? 

 1) J§^ra H$madmB© H$aÊ¶mnydu Vwåhr ¶m àH$aUmMr JwßV Mm¡H$er 
H$amb. 

 2) d[að>m§Zm ¶m~m~V ‘m{hVr Úmb. 

 3) AmV§H$dmXmMr nwT>rb hmbMmbtMm JwßVnUo emoY ¿¶mb. 

 4) Ë¶m g¡{ZH$mg VmËH$mi {Zb§{~V H$amb. 

87 : You receive a complaint from one community that a 

priest of a temple is denying an entry to them in a temple. 

You are the Police Inspector of that area. You will ......... 

 1)  immediately report it to Dy. Sp. 

 2)  take a strict action against the priest. 

 3) give the awarness to the priest about Indian 

constitution and right of equality. 

 4) ask the community members to file the case 

against priest. 

87  : ‘§{XamVrb nwOmar {d{eï>> OmVrg‘yhmÀ¶m bmoH$m§Zm ‘§{XamV àdoe 
ZmH$maV Agë¶mMr VH«$ma Ë¶m OmVrMo bmoH$ Vw‘À¶mH$S>o H$aV AmhoV. 
Vwåhr Ë¶m ^mJmMo nmo{bg {ZarjH$ AmhmV Vwåhr ....... 

 1) VmËH$mi nmo{bg CnAYrjH$m§Zm ¶m~m~V H$idmb. 

 2) nwamo{hVmda H$R>moa H$madmB© H$amb. 

   3) nwamo{hVmbm ^maVr¶ amÁ¶KQ>ZoMr d g‘mZVoÀ¶m A{YH$mamMr 
OmUrd XoD$Z OmJ¥V H$amb.   

 4) nwamo{hVm{dê$Õ Ho$g XmIb H$aÊ¶mMo Vwåhr Ë¶m OmVr  
g‘whmÀ¶m bmoH$m§Zm gm§Jmb. 
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88 : You are the head of an organization. You have to take 

a decision which is to be of great consequence to your 

team. For taking such a decision, which of the following 

measures you would take ? 

1)  You would ensure that every member 

participates in the decision taking process. 

2)  You would ensure that every member is present 

when the decision is taken. 

3) You would assure everyone that their point of 

view would be accomodated in the final decision. 

4) You will take a decision and express it in a 

meeting.   
88 : Vwåhr EH$m g§ñWoMo n«‘wI AmhmV. Vwåhmbm EH$ ‘hËdnyU© {ZU©¶ 
¿¶m¶Mm Amho H$s Á¶mMm n[aUm‘ nyU© g‘whmda hmoUma Amho. hm {ZU©¶ 
KoÊ¶mgmR>r Vwåhr H$m¶ H$amb?  

 1) Vwåhr àË¶oH$ gXñ¶mbm {ZU©¶à{H«$¶oV gh^mJr H$ê$Z ¿¶mb. 

 2) Vwåhr {ZU©¶ KoVmZm àË¶oH$ gXñ¶ CnpñWV amhrb ¶mMr 
H$miOr ¿¶mb. 

 3) Vwåhr A§{V‘ {ZU©¶ KoVmZm àË¶oH$mMm Ñï>rH$moZ {dMmamV 
KoVbm OmB©b ¶mMr ImÌr gdmªZm Úmb. 

 4) Vwåhr ñdV… {ZU©¶ ¿¶mb d {‘Q>tJ‘Ü¶o gdmªZm gm§Jmb.  

89 : You are a Mayor of the city. The citizens are 

restless/helpless due to the biting of stray dogs in some 

wards of the city. But the Health Department of 

Corporation neglects to it. In such situation, what steps will 

you take ? 

 1)  Immediately transfer the medical officer. 

 2)  Order to control the stray dogs. 

 3)  Instantly issue notice to the Health Department to 

take over the disease and provide the treatment 

of Rabies. 

 4) Make awareness among the citizens to protect 

from the stray dogs biting.   
89 : Vwåhr EH$m ehamMo ‘hmnm¡a AmhmV. Vw‘À¶m ehamVrb H$mhr 
à^mJmV ^Q>³¶m Hw$Í¶m§À¶m Mmì¶m‘wio ZmJ[aH$ ÌñV AmhoV. 
‘hmnm{bHo$Mm d¡ÚH$s¶ {d^mJ ‘mÌ ¶mH$S>o Xþb©j H$aV Amho. Aem 
n[apñWVrV Vwåhr H$m¶ H$amb ? 

 1) d¡ÚH$s¶ A{YH$mè¶m§Mr VmËH$mi ~Xbr H$amb. 

 2) ^Q>³¶m Hw$Í¶m§Mm ~§Xmo~ñV H$aÊ¶mMo AmXoe Úmb. 

 3) VmËH$mi Amamo½¶ ImË¶mg AmOmamda {Z¶§ÌU AmUÊ¶mgmR>r 
d ao~rOÀ¶m CnMmamgmR>r gyMZm Úmb. 

 4) ZmJ[aH$m§‘Ü¶o ^Q>³¶m Hw$Í¶m§À¶m MmdÊ¶mnmgyZ ~Mmd 
H$aÊ¶mgmR>r OZOmJ¥Vr H$amb. 

90 : You have been informed that a ‘Rave Party’ 

preparation is carried on in near by historical fort. As a 

District Superintendent of Police, you would ......... 

 1) give the orders to arrest the members of ‘Rave 

Party’. 

 2) do not take action until you get written 

complaint. 

 3) write a detail note to Home Minister.  
 4) visit the spot and arrest them with proper 

preparation.   
 

90 : Vwåhr {OëømMo nmo{bg AYrjH$ AmhmV. Vw‘À¶m ehambJVÀ¶m 
^mJmV AgUmè¶m Eo{Vhm{gH$ {H$ëë¶mOdi ‘aoìh nmQ>uÀ¶m’ Am¶moOZmMr 
V¶mar Mmby Amho Aer Vwåhmbm I~a {‘imbr Amho. Vwåhr H$m¶ 
H$amb...  

 1) Ë¶m aoìh nmQ>uer g§~§{YV ì¶³VtZm  H¡$X H$aÊ¶mMo AmXoe 
Úmb. 

 2) boIr VH«$ma ¶oB©n¶ªV Hw$R>brhr H$madmB© H$aUma Zmhr. 

 3) J¥h‘§Ìmb¶mH$S>o ¶m~m~V {dñV¥V boIr ‘m{hVr nmR>dmb. 

 4) KQ>ZmñWir OmD$Z {Z¶moOZnyd©H$ V¶mar H$ê$Z gdmªZm 
Vmã¶mV ¿¶mb. 

 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 PAPER  ENDS  HERE  
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 
 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 
`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
doi : XmoZ Vmg                                                                                 A{YH$V_ JwU : 200 

gyMZm 

1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm àíZ Jhmi Pmbo 
AmhoV H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm. Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 

3. `m àíZg§MmV EHy$U XmoZ ^mJ Imbrbà_mUo {d^mJbobo AmhoV.  

 EHy$U 
àíZ 

JwU àíZm§Mo ñdê$n MwH$sÀ`m CÎmamgmR>r X§S> 

^mJ - 1 50 100 dñVw{Zð> àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S> 

^mJ - 2 40 100 dñVw{Zð> à. H«$. 85 Vo 90 ì`{V[aŠV àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S 

àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. àË`oH$ àíZmbm Mma n`m©` {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo 
Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa Vwåhmbm EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` 
n`m©` Zm|Xdm. H$moUË`mhr àíZmgmR>r Ho$di EH$M n`m©` {ZdS>m. 

4. gd© 90 dñVw{Zð àíZm§Mr CÎmao (^mJ 1 d 2) gH$mir 11 Vo Xþnmar 1 ¶m doioV Vwåhmbm Ë¶mgmR>r {Xboë`m ñdV§Ì CÎman{ÌHo$daM Zm|Xdm`Mr 
AmhoV.  

5. dñVw{Zð àíZm§Mr CÎman{ÌH$m Xþnmar 1 dmOVm naV KoVbr OmB©b. H$moUË¶mhr n[apñWVrV dñVw{Zð> àíZm§Mr CÎmao Xþnmar 1 Z§Va {b{hVm 
¶oUma ZmhrV  

6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eï>>_m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m àdoe n{ÌHo$da Amho. 
7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n ©̀dojH$m§H$S>o \$ŠV CÎman{ÌH$m Úmd`mMr Amho. hm àíZg§M 

KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. Xþnmar 12 dmOÊ¶mnydu Vwåhr narjmH$jmVyZ ~mhoa OmD$ eH$Uma Zmhr. 
8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 
9. MwH$sÀ`m CÎmamH$arVm X§S> : 
      àíZn{ÌHo$_Ü`o àíZ H«$_m§H$ 85 Vo 90 ì`{V[aŠV ^mJ 1 d ^mJ 2 ‘Yrb BVa àíZm§Mo MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm  
     OmB©b. àíZ H«$_m§H$ 85 Vo 90 `m àíZm§À`m MwH$sÀ`m CÎmam§gmR>r X§S> Ho$bm OmUma Zmhr. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmÏ¶m©Zo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm Agboë`m JwUm§À`m 
EH$ V¥{V`m§e JwU X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmÏ¶m©Zo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob Varhr Vo CÎma MwH$sMo 
_mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
10. ¶m àíZg§MmVrb ^mJ-2 ‘Ü¶o H$‘rV H$‘r 33 JwU {‘imë¶mgM ^mJ-1 Vnmgbm OmB©b Am{U A§{V‘ {ZdS> ¶mXr ^mJ-1 ‘Ü¶o {‘imboë¶m 

JwUm§ZwgmaM V¶ma Ho$br OmB©b ¶mMr Zm|X ¿¶mdr.    

11. `m narjoMm {ZH$mb Am_À`m www.yashada.org/acec `m do~gmB©Q>da 26.03.2021 Z§Va Kmo{fV Ho$bm OmB©b. 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.
 


